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6. Practice True/False questions by doing problems 1(a)-1(p) from the below except for parts (g)—(k) :

1. Assume that the matrices mentioned in the statements below
have appropriate sizes. Mark each statement True or False.
Justify each answer.
a. If Aand B are m x n, then both AB” and A'B are
defined. T Ul
b. If AB = C and C has 2 columns, then A has 2 columns. False
& Mké/’c,\mmying amatrix B by adiagonal matrixESvith m TM
(

nonzero entries on the diagonal, scales the rows of B.

T ral
& 4 IfBC =BD.thenC = D. False ok s
e. If AC =0, theneither A =0o0rC =0. False
f IfAand Baren x n,then(4 + B)(A— B) = A2 — B2.Fa\se
EENOLE :
Qg -

I. If AB = I,then A is invertible. a\g

m. If A and B are square and invertible, then AB is invert-
ible,and (4B)~' = A'B~". FalsC

If AB = BA andiif A is invertible, then A™'B = BA™'. "TCW
If A is invertible and if r # 0, then (rd)~' = rA™". False

1
p. If Aisa 3 x 3 matrix and the equation Ax = 0] has

0
a unique solution, then A is invertible.

Tewe .



7. Practice True/False questions by doing problems 1(a)-1(p) from the below except for parts (f)—(h)
and part (1):

1. Mark each statement True or False. Justify each answer.
Assume that all matrices here are square.

a. If A 1s a2 x 2 matrix with a zero determinant, then one
column of A is a multiple of the other. ~T¢Q

b. If two rows of a 3 x 3 matrix A are the same, then

detA=0. Tep
c. If Aisa3 x 3 matrix, thendet54 = 5det A. ‘:0\\5&

d. If A and B are n x n matrices, with det A = 2 and
det B = 3,thendet(A + B) = 5. False
e. If Aisn xnanddet A =2, thendet4* =6. FglSc
e 1B S e ¢ A-th
—det B—det A~
: 0 y J, then
~det B =5-detA—
‘—f—B—isformed by adding to-ene Tow of A a linear ——
~combinationof theother rows; then det B = det A.
i. detA” = —detA. False
j. det(—A) = —detA. Fa\%
k. det A4 > 0. "\
I b . : iab] l
—_solved by Cramer’stule.
m. If u and v are in R? and det[u v ] = 10, then the area
of the triangle in the plane with vertices at 0, u, and v

is 10. FQ\?C—
n. If A>=0,thendet A = 0. T UL

o. If A is invertible, then det A~ = det 4. Fal®
p. If Ais invertible, then (det A)(det A~ ') = 1. TTYwe




